



Department of the Interior and Local Government

Regional Office No. V, Rizal Street, Legazpi City

PURCHASE ORDER

P.O. No. GDS-2023-183

Date: June 13, 2023

Mode of Procurement: SMALL VALUE

COA-DILG R.O.\

PROCUREMENT (53.9)

TIN: 206-509-319-00000

Address Camarines Sur

Supplier NASAKIAH TRADING

Gentlemen:

Please furnish this Office the following articles subject to the terms and conditions contained herein:

4" x 6" Borderless Photo (PP-201): Approx. 53 Seconds

Hi-Speed USB, Wireless PictBridge12, Wi-Fi® (802.11b/g/n/a wireless networking, 2.4/5.0GHz)1

Microphone, 1 x Remote control, 1 x manual

Portable Printer

Purchase of Supplies for the Retooled Community Support Program

Place of Delivery: DILG Regional Office V Delivery Term: 10 Calendar Days upon Receipt of PO Date of Delivery: Payment Term : Stock/ Property No. Unit Description Quantity Unit Cost Amount **Printer** Print, Scan, Copy, Fax with ADF Compact integrated tank design 1 pc High yield ink bottles 1 14,988.00 14,988.00 Spill-free, error-free refilling Wi-Fi, Wi-Fi Direct Seamless setup via Smart Panel Borderless printing up to 4R

		Black:ESAT Approx. 9.0 ipm3 Color:ESAT Approx. 5.5 ipm3			
2	рс	CMYK: 1,536 / Pigment Black: 320 / Total: 1,856 Up to 4800 x 1200 dpi26 Plain: Plain Paper, Canon High Resolution Paper; Glossy: Photo Paper Plus Glossy II, Photo Paper Glossy; Matte: Matte Photo Paper Other: Greeting Cards, Magnetic Photo Paper, Restickable Photo Paper, U.S. #10 Envelopes; Recycled paper and Chlorine-free paper can be used	1	27,875.00	27,875.00

		Closed: 12.7" (L) x 7.3" (W) x 2.6" (H) Paper Installed: 12.7" (L) x 12.1" (W) x 9.7" (H) 4.5 lbs. 5.1 lbs. (with optional LK-72 Battery Pack installed)			
		Portable PA System Trolley Speaker 8" with 2pcs			
3	рс	Wireless Microphone Power: 200W; LED Lights; 2 Wireless Microphone; Wired Microphone / Guitar / Line In Line Out; 1 x PA-8 Trolley Speaker Portable, 2 x Wireless	1	9,400.00	9,400.00

		Wireless Lapel Microphone			
4	рс	Frequency Range: 600Mhz - 700Mhz Output Plug: XLR balance, 1/4" unbalance plug Battery: 4pcs "AA" batteries (2pcs each receiver) Modulation Mode: FM Frequency Adjust Mode: Automatic frequency adjustment Maximum frequency deviation: 75Khz Working Distance Range: up to 100 meters on open area Rated Power: 4W Audio Dynamic Range: >90dB Mirror Frequency Rejection: >80dB RF Sensitivity: >5dBu Inclusions: 1 receiver; 2 body pack transmitter; 1 power adapter; 1 PL to PL cable; 2 Antenna; 4 "AA" Batteries; 2 clip type mic; 2 head worn mic; 1 user manual	2	8,682.00	17,364.00
5	рс	Ink Cart, Brother DCP-T710W, Black	5	480.00	2,400.00
6	pc	Ink Cart, Brother DCP-T710W, Cyan	5	480.00	2,400.00
7	pc	Ink Cart, Brother DCP-T710W, Magenta	5	480.00	2,400.00
8	рс	Ink Cart, Brother DCP-T710W, Yellow	5	480.00	2,400.00
9	рс	PGI-35 Pigment-Based Black Ink Tank	3	3,300.00	9,900.00
10	рс	CLI-36 Dye-Based Color Ink Tank (Cyan, Magenta, Yellow, Black)	3	3,300.00	9,900.00
		***Ninety Nine Thousand Twenty Seven Pesos Only	***		99,027.00

contract price.

rawayllqur

Signature over Printed Name of Supplier

Conforme:

Very truly yours,

Leev & hely

ATTY. ARNALDO E. ESCOBER JR, CESO V REGIONAL DIRECTOR

	Date	
Fund Cluster : <u>01</u> Funds Available :	CORET MODERNA E BADONG	ORS/BURS No. : Date of the ORS/BURS: Amount :
	COREE MODESSA F. BADONG	SK2073-03-6350



Republic of the Philippines DEPARTMENT OF THE INTERIOR AND LOCAL GOVERNMENT Regional Office V Legazpi City

BAC RESOLUTION DECLARING NASAKIAH TRADING THE BIDDER WITH THE SINGLE LOWEST CALCULATED AND RESPONSIVE BID (SLCRB) FOR THE CONTRACT: PURCHASE OF SUPPLIES FOR THE RETOOLED COMMUNITY SUPPORT PROGRAM SLCRB-RFQ NO.GDS-2023-183

WHEREAS, the Department of the Interior and Local Government Regional Office No. 5 requested quotation/s for the **PURCHASE OF SUPPLIES FOR THE RETOOLED COMMUNITY SUPPORT PROGRAM** with an Approved Budget for the Contract (ABC): Ninety Nine Thousand Six Hundred Seventy Five Pesos (99,675.00).

WHEREAS, the BAC resorted to SMALL VALUE PROCUREMENT (53.9) as an alternative mode of procurement posted in the Project Bulletin Board for the period from June 2, 2023 to June 8, 2023.

WHEREAS, the committee waived the formalities of competitive bidding procedures, the evaluation shall be per lot basis.

WHEREAS, the BAC Secretariat presented Five (5) quotations from bidders/suppliers as follows:

BIDDER	BID AMOUNT	REMARKS S/LCRB	
NASAKIAH TRADING	Php 99,027.00		
ALBAY COMPUTER & ELECTRONICS & REPAIR	DQ: INCOMPLETE BID	DQ: INCOMPLETE BID	
K2C	DQ: INCOMPLETE BID	DQ: INCOMPLETE BD	
CRISMA MAXWELL	DQ: NO RETURNED RFQ	DQ: NO RETURNED RFQ	
DENVER'S COMPUTER SHOPPE	DQ; NO RETURNED RFQ	DQ: NO RETURNED RFQ	

WHEREAS, upon examination, validation and verification of all the eligibility, technical and financial requirements submitted by **NASAKIAH TRADING** its bid was found to be responsive;

WHEREAS, the BAC declared and recommended NASAKIAH TRADING as the Single Lowest Calculated and Responsive Bidder.

NOW, THEREFORE, We, the members of the Bids and Awards Committee, hereby RESOLVE, as it is hereby RESOLVED

To recommend for the approval and awarding of as the bidder with the Single Lowest Calculated and Responsive Bid for the contract **PURCHASE OF SUPPLIES FOR THE RETOOLED COMMUNITY SUPPORT PROGRAM** with the amount of Ninety Nine Thousand Twenty Seven Pesos Only (99,027.00).

RESOLVED, at the DILG RO V Conference Room this 9th day of June 2023.

MAE G. CLEMENTE Regular Member

MA. GRACE JOY U. TANGO

Provisional Metaber

defifich

DARLYN D. AYENDE

ARY. MAGDALENA A. BORBE-MALLARI

Regular Member

NARCISA M. CLAVERON
Provisional Member

MA. RUTHEL P. GIGANTOCA
BAC Vice-Chairperson

Approved

Disapproved

ATTY. ARNALDO E. ESCOBER, JR. CESO V

Regional Director





Republic of the Philippines Department of the Interior and Local Government Regional Office V

REGIONAL OFFICE BIDS AND AWARDS COMMITTEE **NOTICE OF AWARD**

June 13, 2023

The Manager NASAKIAH TRADING Camarines Sur

Dear Sir/Madam:

We are pleased to inform you that your quotation for the Purchase of Supplies for the Retooled Community Support Program with the contract price equivalent to Ninety Nine Thousand Twenty Seven Pesos Only (99,027.00) is hereby accepted.

Please acknowledge receipt and acceptance of this Notice by signing all copies. Retain one copy and return the other to the BAC Secretariat Office, DILG Regional Office V, Rizal Street Legazpi City.

Very truly yours,

ATTY. ARNALDO E ESCOBER JR, CESO V Regional Director

CONFORME:

(Signature over Printed Name)

Date: 6-6-23

http://region5.dilg.gov.ph region5dilg@gmail.com





Rev. No. Eff. Date Page 00 06.15..21 1of1

Republic of the Philippines Department of the Interior and Local Government Regional Office V

REGIONAL OFFICE BIDS AND AWARDS COMMITTEE NOTICE TO PROCEED

June 13, 2023

The Manager
NASAKIAH TRADING
Camarines Sur

Dear Sir/Madam:

The attached Notice of Award for the **Purchase of Supplies for the Retooled Community Support Program** has been approved; notice is hereby given to you to proceed on your delivery with the above-mentioned, as stated upon receipt of this Notice.

Please acknowledge receipt and acceptance of this Notice by signing all copies on the space provided below. Retain one copy and return the other to the BAC Secretariat Office, DILG Regional Office V, Rizal Street Legazpi City.

Very truly yours,

ATTY. ARNALDO E. ESCOBER, JR. CESO V Regional Director

CONFORME:

By:

(Signature over Printed Name)

Date: ____ &-16-23

"Matino, Mahusay at Maaasahan"

Rizal St., Legazpi City
(052) 4801484; 4801486 (052) 4804023

http://region5.dilg.gov.ph
region5dilg@gmail.com